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; Estimate 3 1
. - Sums and e
Learning Target: Use rounding orfcompatible Differences

numbeEto estimate sums and differences of decimals.
cess Criteria:
- | can use rounding to estimate a sum or difference.
« | can use compatible numbers to estimate a sum
or difference.

Explore and Grow

Estimate each sum or difference.

23.08 —
+5055— +[ (O |
[ %3 ]

Construct Arguments Compare your answers to your partner’s
answers. Explain why they are the same or why they are different.




Think and Grow: Estimate Sums and Differences

You can use rounding or compatible numbers to estimate sums and

differences of decimals.

D) Estimate 27.21 + 48.73,

One Way: Use rounding. Round
each addend to the nearest whole
number. Then find the sum of the
rounded numbers.

27.21 —
+ 48.73 — +[{9]
[Tl

So,27.21 + 48.73 is about_—'{h..

D) Estimate 388.5 — 103.2.

One Way: Use rounding. Round
each number to the nearest ten.
Then find the difference of the
rounded numbers.

3885 — |'3%9
—1032 — -[10Y
2K6

So, 388.5 — 103.2 is about 2‘863 :

Another Way: Use compatible
numbers.

2721 —  [%p]
+ 48.73 — 4 [5p]
30!

So,27.21 + 4873 isabout _ 30 |

Another Way: Use compatible
numbers.

388.5 — [4DO
—103.2— —[[00]

50,3885 — 103.2is about 3% |

Show and Grow

Estimate the sum or difference.

1. 11218 SO 2. 688 —» D .
+ 4799 — Q ~297 3 3 3
(60 H0 §

EEJ
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Name

Apply and Grow: Practice

Estimate the sum or difference.
3. 795> §

4. 23755 200

=1 +345.1 =4 390
b S50
5. 67.5+ 15.1 6. 4189 — 147
10+1\5 = RY Y20-15 = Yos
7. 139-821 8. 208.6 + 56.9
M-~%= 6 20 + 6O= 2770

9. @i‘ Number Sense Descartes estimates a sum by rounding each number
to the nearest ten. His estimate is 140. Which sums could he have estimated?

83.6 + 59.8

106. 44.68

o

10. Cﬂ'i' Precision Does rounding
209.11 — 104.53 to the nearest ten
or to the nearest hundred give an
estimate that is closer to the actual
difference? Explain.

700 -100 =100

210 -{p0= O

Chapter3 | Lesson 1

1. L [YF2233! Newton packs a
suitcase to fly on a plane. His
suitcase needs to weigh less than
50.0 pounds. Should Newton
overestimate or underestimate the
weight of his suitcase? Explain.

OUWQSJ‘\N\&J\{ SD he d@g&n-‘r
A onev uﬁtc\ﬁ it

85



Think and Grow: Modeling Real Life

m About how many feet taller is

One World Trade Center than the Empire
State Building?

Round the height of each building to the
nearest hundred because you do not need
a precise answer. 1.776.02ft

One World Trade Center: 1,800 feet
Empire State Building: 1,500 feet

Subtract the estimated height of the Empire
State Building from the estimated height of

One World Trade Center. One World Ermpire State
1,800 Trade Center Building
— 1,500

One World Trade Center is about ?)OO feet taller than the Empire State Building.

Show and Grow

12. About how many more tons does the African
elephant weigh than the hippopotamus?

5.7 6
- 23 -2
4 tons
African elephant: Hippopotamus:
5.7 tons 2.3 tons
13. One cup of wild rice has 6.5 grams 14. The speed Earth orbits the Sun is
of protein. One cup of shredded 18.5 miles per second. This speed is

chicken has 36.9 more grams of 3.3 miles per second slower than the g
protein than 1 cup of wild rice. speed Venus orbits the Sun. About g
About how many grams of protein how fast does Venus orbit the Sun? 5
" . ? -
are in 1 cup of chicken? 18.5 19 g
36.9 37 + 33 + 3 2
+ 6.5 G Ry ) 22 miles per second ©

86 44 grams



FF Name

Learning Target: Use rounding or compatible J

Homework
& Practice 3.1,

numbers to estimate sums and differences of decimals
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XD Estimate 734.6 — 285.3.

One Way: Use rounding. Round
each number to the nearest ten.
Then find the difference of the
rounded numbers.

7346 — 730
— 2853 — — 290

So, 734.6 — 285.3 is about 440 .

Another Way: Use compatible
numbers.

7346 —> 750
— 2853 — — 300

So, 734.6 — 285.3 is about 450 .

P

Estimate the sum or difference.

76.81 2. 79.1
+ 217 — 328
3. 41844 — 23.61 4. 90.7 +23

5. 6.24— 38

Chapter 3 | Lesson 1

6. 837.51 + 149.27

87



7. Open-Ended Write a decimal addition problem that has an
estimated sum of 35.

8. @a‘ Reasoning Describe a situation 9. Modeling Real Life Your friend
when you would estimate the participates in a 3.1-mile race. She
difference of 25.4 and 19.8 to the walks for 1.4 miles of the race and runs
nearest whole number. the rest. About how many miles does

your friend run?

10. TIEEZEY! Your phone has 16,000 megabytes of total

storage space. About how much storage space is free? BT otane Soace Uoe

Photos
3,111.1 megabytes

Applications
5,345.3 megabytes

Music
4,598.8 megabytes

Done Settings

Find the sum.

2 4 1

1% ==
8 8 2

I 13. 1+-

[ SRRY,]
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